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Q

Part 1 (60 marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on
the Optical Answer Sheet.

1. A milipede curls up when it is fouched fo protect itself.

Y

This shows that the milipede is a !iv’ing‘ thirig because it can

{1 grow (2) breathe
(3) respond (4) reproduce
2. The diagram below shows the life cycle of an animal.
/ - \
adult nymph

u

Which animal is likely to have the life cycle as shown above?

(1) chicken (2) mosquito
(3) grasshopper {4} mealworm beetle
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The diagram below shows the growth of a young plant with two missing
stages C and D.

C D

Which one of the following shows the correct stages for C and D?

)

)

(3)

(4)

Mealworms go through moulting in their life cycle. Why do they go through
moulting?

(1) To mate with each other.

(2). To stop eating and become inactive.

(3) To shed their skin several times to grow bigger.

(4} To reproduce more young in order to ensure continuity of species.
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L

Siti drew four life cycles.

(A (8)
/Mealworm \\ /Egg \
Egg €—————— Mealworm Tadpole ————> Frog
Beetle
. (©) (D)
Larva
/ Egg \ /’ \

Housefly Larva Egg Pupa

Pupa / \ Butterfly / |

/

Which of the life cycles are correct?

(1) A and B only (2) C and D only
(3) B and D only (4) B, C and D only

Which of the following graphs shows the change in height as a seed grows
into an adult plant?

(1)  Meignt (cm) (2) Height (em)
v
[ ! P | i ! 1 1y,
0 10 20 30 40 50 g 10 20 30 40 50
Number of days Number of days
Height {cm) ‘Heignt (cm)
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7.  The table below shows the comparisons between the life cycles of a frog and

a cockroach.
Frog Geck_mach.
Does notreseimble Resembles the
A | Youns the-adult adult
B | Number of stages 4 stage 3 stage
C | Methed of reproduction Yays-&ggs- Lays eggs
Number of legs at aduit Fourlegs Six legs
stage .

Which of the above comparisons:are eorrest?

(1) A and C only (2) Band D only
(3) A, Band D only {4) A, Cand D only

8.  Which one of the following properties is true for both-oxygen and a pen?

(1) They have mass.

{2) They have fixed shapes.
{3) They have fixed velumes.
{4) They can be compressed.
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9. ° Terence placed a ball of plasticine into a container of water. He noticed that
the water level rose to the 180 cm® mark.

180cm® {.

Ball of plasticine

He then took the ball of plasticine out of the water, divided it into two pieces
and lowered them slowly into the water again.

Which of the foliowing diagrams shows the correct water level in the
container?

(1)
200cm’®

(3) (4)

180cm’  frreme




10.

11.
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Ahmad pumped some air into a soccer ball using a bicycle pump.
The graph below shows the change in volume of the ball after it was pumped
six times.

Volume of
ball {cm®)

b
>

Number of fimes air was
pumped in

What does Part MN of the graph represent?

(1) The soccer ball had burst.

(2) The airin the soccer ball had escaped.

(3) The air in the sdceer ball was compressed.
(4) The soccer ball continued to increase in size.

The diagram below shows a flowering plant.

What happens to the plant when all the parts labelled ‘B’ are removed?

(1) ltis not able to make food.

{2) It can no longer grow upright.

(3) It cannot bear flowers and fruits. :

(4) it wili not be able to absorb water and mineral salts.

5]
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13.

14.
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Which of the following statement best describes the way the plant grows as
shown in the diagram below?

(1) The piant has a weak stem.

(2) The plant needs more air to grow.

(3) The plant grows towards the sunlight.

(4) The plant has no more space to grow upwards.

Cindy wanted to grow her green bean plant in a pet. She accidentally broke
part of the roots as shown below. YWhat will happen to the plant after a week?

{1) The plant will die.

{2) The plant continues to grow.

(3} The other roots will also drop off from the plant.
(4) The leaves from the plant will dry up and fall off.

Saliva is known to help in the process of digestion. Which of the following
statements about saliva is correct?

(1), lt absorbs water and mineral salts
(2) Ithelps to push down the food into our stomach.
(3) It helps to make the food moist so that it can be swallowed.

(4) It absorbs the digested food and transports it to our bloodstream;,
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Which of the following objects can be bent easily without breaking?

15.
(1) Amarble (2)  Aplastic spoon
(3) Atowel (4)  Ametal ruler

Q_“lli[.llllu'

16. James carried out an experiment using four different materials
(Materials A, B, C and D) of equal lengths. He placed vne cormer of each
material into an empty dish and poured some coloured water into the dish.

The diagram below shows what he observed after pouring the coloured water

into the dish.

Coloured water

Which material is suitable for making a raincoat?

2y B .

() A
4 D

(3) C
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17.  Inwhich of the following will the two magnets attract each other?

(1) N 5 S N

(2) N N S .

(3) S N
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18.  Which one of the following objects will be attracted to a magnet?

(1) (2)
plastic bag paper
(3) &)
stainless steel spoon toothpicks
19. Study the flowchart carefully.
START
l Yes
is it flexible? » A
l No
Yes

Is it transparent? |.e—» BI
No

-+

Is it non- Yes ;
. —>t C
magnetic? ! |

No
o]

Based on the flowchart, where will a ten-cent coin be placed?

(1) A @) B
(3) C o @) D

10

i
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20. The diagram below shows what happens when both ends of X are brought
near.

X Y

= &L

attraction

| The diagram below shows what happens when Y was turned over.

(o)
gla

Which of the following statements correctly describes the cbservation above?

(1) Both X and Y are magnets.

{2) Both Xand Y are magnetic materials.

(3) Xis amagnet butY is a magnetic material.

(4) XisamagnetbutY is a non-magnetic material.

ik
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22.

(3 Y.W.Z X (4
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The table below shows four parts of a-bar magnet and the number of
thumbtacks each part attracts.

Parts of a magnet A B Cc D
Number of thumbtacks each
part attracts 8 S 5 3

Based on the results in the table above, which parts are most likely to be at
the two poles of the magnet?

(1) AandB (2) BandC
(3) AandD (4 CandD

Bala places four different bar magnets (W, X, ¥ and Z) on the same starting
line. He then slowly pushes the paper clips towards the magnets along the
ruler. He measured the distance at which the paper clips were attracted to

the magnets and the resuits are.shown below. ’

W Jcm

X PV < 1. U R i

Which of the following shows the correct order from the strongest to the
weakest magnets? )

(1) W, X, Y,Z (2) X,
) 4

I3

12
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“Which one of the following is a source of light?

(1 (2)

Mirror Moon

(3) {4)

Candle flame Diamond ring

The driver uses the side mirror as shown below to see the car behind him.

Why do you think he was able to see the car?

{1) The mirror is a light source.

(2) The mirror blocks light from the car behind.
(3) The mirror reflects light from the car behind.
(4) The mirror absorbs light from the car behind.

13
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Look at the picture below.

Which one of the following explains why Sue can see the book on the table?

(1) 2

14
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Muthu wanted to conduct an experiment to find out whether an object with a
shiny surface or dull surface reflects light better.

Which of the following variables should he keep:the same in order to ensure a
fair test?

R: Size of surface

S: Texture of surface

T: Intensity of light

U: Distance between light source and surface

(1) Sonly (2) Sand U only .
(3) R, TandU only 4 RS TandU

Ronald places a metal spoon in a cup of hot tea.

metal spoon —\ 3y

a cup of hot tea

The spoon becomes hotter after a while.

Which one of the following statement explains why the spoon becomes
hotter?

(1) The spoon loses heat to the hot tea.

(2) The spoon gains heat from the hot tea.

(3) The hot tea gains heat from the spoon.

(4) The spoon loses heat to the surrounding air.

15




28.

29.
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What changes do you observe in an ice-cube when it is heated over a flame?

ice cube

Change in siate
Change in shape
Change in colour
Change in temperature

QoW

(1) AandBonly (2) Aand D only.
(3) A, BandD only (4) A, B,CandD

In the recent 2012 London Olympic, the Olympic torch has been specially
designed to aliow it to be carried and passed along by 8 000 forch bearers,
both adult and young. :

material X

its exterior is made of Material X which enables the torch bearers to hold the
torch for a long time.

Which of the following statements show the characteristics of Material X7

P: Xis heavyweight.

Q: X is lightweight.

R: Xis a poor conductor of heat.
S: Xis a good conductor of heat.

(1) P and S only (2) Qand S only
(3) P eandRonly (4) QandRonly

16

1
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o

30. The diagrams below show the conditions of electric cables in a day.

Which of the follewing shows the correct time of S and T?

S T
(1) 10 p.m 5am
(2) 10p.m 1p.m
(3 5a.m 10 p.m
(4) 1p.m 5am
End of Pari 1
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Part il:{40 marks)
For questions 31 to 44, write your answers in this booklet.

31.  Read the short story;,bglcéw.

Lisa has a few sunﬂe

Jaf i*.s, in her garden. One day, she found
many tiny butterfly eggs on the Ieaves of her plants. A few days later, she
saw that the eggs had halched into caterpillars. When Lisa fried to fouch
one of the caterpillars, it meved away from her. She noticed that the
leaves on her plants started to have holes and got much smaller. A few
days later, she saw some-white cases-hanging. from the leaves.

What are some of the characteristics ‘of living things that Lisa can conclude? -
Based on the story abeve, give a reason for each characteristic. (B3m)

Characteristics of living things

Reason

b)

d) Why do the butterflies lay its eggs on the leaves?

{1m)
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32,  William wanted to find out if temperature affects the length of the life cycle of
aseed. The length of the iife cycle refers to the number of days needed until
the seed grews its first leaves. He planted five seeds.in each potof soilat..

different temperatures.
Temperature (°C} 20 24 27 30
Length of life cycle (days) 26 18 12 8

a) From the above resulls, state the relationship-between the iemperature
and the length of the fife cvele. ' {1m)

b) Nameone variable that should be kept constant in order for a fair test.
' (1m)

The diagram below shows the seedling.

c) Whatwill eventually happen to the part labelled ‘X' as the seedling grows
into an adult plant? Explain why. {(1m)

L
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.33, Choose the correct words from the box to fill in the blanks below.

solid : l’lquid . gas

a)  John pours some marbles from a jar onto a table as shown below. The
shape and voliiie of the marbles remain the same.

marble

/

T

/!

This shows that a marble is a . {(1m)

b} John pours heney from a jar ontd a table as shown below. The volume
of honey remains the same but its shape changes.

bottle

This shows that honeyisa __ . . (1m)
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Fiza pushes an empty plastic bottle into @ basin of water as shown below.

She then unscrews andremoves the bokie eap.

a) What would she observe? (1m)
b) Give a reason for the observation. {1m}
Fiza groups the bottle in group Q as shown below.
P Q
Oil Boiiie
Milk Marble
Oxygen Umbrelia
¢) Give a suitabje heading for P and Q (1m)
P
Q:
d) How are groups P and Q similar? (1m)

23
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35. David wanted to carry out an experiment to find out how much water would
the roots of a plant absorb in one week. He used two identical plants in these

set—ups.

Set-up A Set-up B
Volume of water at the | Volume of water at the end
Beaker b g it . R
- -1 start of the experiment of the experiment
A 250 mi 100 mi
B 250 mi- 240 mi
a) Inwhich set-up was more water lost? {1m)

b} Explain your answer in (a).

{(1m)

¢) David set up another beaker with blue coloured water as shown below.

Layer of oil

Biue coloured water

What will be obsérved after inree days? {tm)
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37.
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The diagram below shows the human digestive system.

a) Name the parts labelled M and N above. (im}
b) What happens to the food in part M2 (1m)
The diagram below shows a pair of swimming goggles.
- PartY
a) Part X is made of clear plastic because it altows to pass
through to help the swimmer see under water. (1m)
(1m}

by PartY is made of tecause Y has to be flexible.

25
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Susan places a magnet near an iron rod as shown below.

jron rod

e, magnet |

The iron rod starts to move towards the magnet.

Choose the correct word from the box to answer the questions below.
You must not repeat the same word.

hard force: strong magnetic non-magnetic
a) The magnet exerts a ontheironrod. (1m)
b)) Susan’'s cbservation shows thatironis a, material.
{(1m)
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39. A thin glass sheet was used fo separafe a maféh box and a bar magnet as
shown below. ’

retort stand match: biox

i =i == o —————=— thin glass sheet

- bar magnet

Charles observed that when the bar magnet was moved, the match-bok

moved in the same direction as well. He said thiat this was due to Objeet X
placed inside the maich box:

a) Basedonthe observation, what is the eharacteristic of Object X?  (1m)

b) Support your answer in (a). - (1m)

c) [fthe glass sheet was changed to a copper sheet of similar thickness, do
you think Charles will be able to move the match box with Object X
inside? Explain why. {1m)
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40.  Wei Liang set up an experiment as shown below.

iron nail

copper wire wound:
around irén nait

a)y Why were the paper ¢lips attracied to the nail?

paper clips

{(1m)

He repeated the experimen’t-'by increasing the number of cdils around the nail

and the result of the experiment was given in the table below.

Number of coils around Number of paper clips
the nail _ attracted
20 2
25 4
30 7
35 8

b) (i) State the measured variable:

(fi) State the changed variable:

(1m)
(1m)

c}) Whatis the relationship between the number of coils around the nail and

the number of paper clips attracted?

- {1m)
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41.  Samy placed fwo similar forches at Point P and Q as shown below.

| empty
‘ cardboard box

Shadows formed are observed when the torches are switched on.

a)' Draw the shadow of the cardboard box when ihe torch is placed at Q. .
(1m) '

Samy tried to replace the cardboard box with another box made of a
different material. Howevar, when he repeated the experiment, no
shadows were formed.

b} What material is the second box most likely made up of?
Give a reason {or your choice. (1m)

i0 :25]
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42.  Lucy set up an experiment by measuring the amount of light passing through
the materials by the light sensor. The results are shown in the graph below.

Materisi D [}

Material C 18

Type of material .

Material B

Material A

0 10 z0 30 40 50
Amount of light passing through the material {lux)

a) The amount of light passing through by material D is 30 hux. Draw the
bar graph in the space provided above. (1m)

by Tick the boxes below to indicate the variables that must be kept the
same. {(1m)

Variables Tick (v)
Intensity of light

Type of material

Thickness of material

l.ocation of experiment

¢} On a sunny day, Lucy used an umbrella. Based on the graph above,
which is the most suitable material to make an umbrella? Give a reason
to Support your choice. (2m)

11
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43.  Jane used an instrument to measure the temperature of water in a beaker.

instrument

e
a}  What is the instrument called? {(1m)
b}  Whatis the temperature of the water in the beaker? (1m)

12



Rosyth School/ Semestral Assessment 2/ Sciencel/P4/2012

44.  Boon Long and his father ordered a glass of "teh tarik” or tea with milk. He
noticed that the drink was made by pouring the mixture of tea and milk up and
down between two metal contdiners repeatedly. His father explained that
this action of pouring mixes the tea and mik.

a) What happens te the femperature of the tea as Itis being poured up and
down between the containers? (1tm)

b) Give a reason for your answer in part (a). (1m)

¢)  Why do you think metal containers are used to prepare the "teh tarik®?
(1m)

End of. P-?Fé" 7
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31
) a)Respond to changes

around them

Lisa tried to touch one of the caterpillars, it moved
away from her.We can conclude that the caterpillar
respond to changes around them.

b)Repr‘odu‘éé '

Lisa found many tiny butterfly eggs on the leaves
of her plants, thus, we can conclude living thing
reproduce to ensure the continuity of their own kind.

c)Needs food to survive
and grow bigger

The caterpillars ate the leaves on Lisa’s plants as the
plant started to have holes and get niiich smaller,
thus, we can conclude caterpillars need food to
survive,

d)When the egg is born,
are their food.

the caterpillars would have food to eat at the leaves

32)a)As the temperature increases, the length of the life cycle decreases.

b)Type of seed.

Pagel1to3 page 1
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Answer Key


32)c)1t will drop off as the food in part X is used up. : .

233)a)solid,
b)liquid.

34)a)Bubbles will be seen and the water will enter the bottle.
b)Air in the plastic bottle can escape, thus, the water is able to flow in.
c)P: Has no definite shape.
Q: Has definite shape.
d)Both group have mass.

35)a)Set-up A. _

b)The roots in set-up A absorb water and mineral salts for the plant, but seét-up
B does not have roots to absorb water and mineral salts.

¢)The plant will turn blue.

36)a)M: Stomach N: Large intestine
b)The food in part M will be half-digested, and then the small intestines where
digestion is completed.

37)a)light
b)rubber

38)a)force
b)magnetic

39)a)It is a magnetic material.
b)A magnet is able to attract magnetic materials, but is not able to attract

non-magnetic materials.
c)Yes. This is because copper is a non-magnetic material.

40)a)The nail is being magnetised, therefore, it is able to attract the paper clips.
b)i}number of paper clips attracted.
ii)number of coils around the nail.
c)As e number of coils around the nail increase, the number of paper clips
attracted also increases.

a1)2) W

b)The material might be made of clear plastie, Clear plastic is transparent and
allow light to through easily.

Page 2




42)a)Draw to 30 )
b)Intensity of light : -
Thickness of material
Location of experiment
c)It allows the least amount of light to pass through,

o

43)a)Thermometer.
b)24°C.

44)a)The temperature decreases.

b)The surrounding temperature mixes with the heat in the containers, Thus,
heat loss takes place in the container B when the tea is being poured up and down
between the containers.

c)I think it is because metal is a good conductor of heat, thus, the “the tarik”

would cool down and a good conductor of heat does not keep something warm for.

a long period of time;

Page 3
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